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491 x 358 = 175778 & ©]-85}o], ALto] L= £4-HS A2 o]
AAY7?

@ 49.1 x 358 = 175.778 @ 4910 x 0.358 = 175.778
@0.491 X 358 = 175.778 @ 491 x 3.58 = 17.5778

® 491 x 0.0358 = 175.778

@D 49.1 x 358 = 17577.8
@ 4910 x 0.358 = 1757.78

@ 491 x 3.58 = 1757.78
® 491 x 0.0358 = 17.5778
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> = 21.2625

3.5 % 1.25 X 4.86 = 4.375 x 4.86 = 21.2625




5. th& 3 Fol Mg 2 FAL oL AU

@10.7 x 15 @ 0.107x 15 ® 107 x0.015

@ 0.0107 x 1500 ® 107 x0.15
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1 52 AN I F52 ol EH o33 25yt

D10.7 x 15 = 160.5

©@0.107 x 15 = 1.605

®107 x 0.015 = 1.605

@0.0107 x 1500 = 16.05

®107 x 0.15 = 16.05
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o19] 714 W 719 159, £ W 21 ol 8 719 070
AU ofmyel 717} 162.5em e o, oh A ] 7= @ em 1A
SRS

» & cm

[> el 185.25cm

(1he] 71) =162.5 x 0.76 =123.5(cm),
(OFH A1 9] 7]) =123.5 x 1.5 =185.25(cm)
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